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Instructions for the Candidates
1. Write your roll number in the space provided on the top of this page.
2. This paper consists of fifty multiple-choice type of questions.
3. Atthe commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to
open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.
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Note : This paper contains fifty (50) objective type questions. Each question carries
two (2) marks. All questions are compulsory.

5. Match List — | with List — Il and select
the correct answer by using the code

1. Which Article of our Constitution
provides for the establishment of Inter-

State Council for co-ordination between given below :

states ? List -1 List —1I

(A) Article 260 (a) Maneka Gandhi V.(i) Freedom of
Union of India Speech and

(B) Article 262 Expression

(C) Article 263 (b) Ramesh (ii) Basic features

i Thopper V. of the
(D) Article 261 State of Madras Constitution

2. According to the preamble the source

of the Indian Constitution is

(A) People

(B) Parliament

(C) Constitutions of other countries
(D) BothB and C

3. Emergency provisions of the

Constitution of India are borrowed from

(A) Germany (B) U.S.A.
(C) U.S.S.R. (D) U.K.

4. Which Article denotes the State shall not
discriminate against any citizen on the
grounds only of religion, race, caste,

sex, place of birth or any of them ?
(A) Article 14
(B) Article 15
(C) Article 16
(D) Article 17
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(c) Kesavananda (iii) Rightto Travel
Bharathi V. Abroad

State of Kerala
(d) GolaknathV.  (iv) Prospective

State of Punjab over-ruling
(v) Double
Jeopardy
Codes

a b C d

(A) @M ) (i) (iv)
(B) (ii) i)y (v) (i)
(©) (iii) (i) (i) (iv)
(D) (iv) (v) @i (i

6. Which Article of the Constitution deals

with free legal aid to poor, illiterate and
indigent persons ?

(A) Article 37 (B) Article 38

(C) Article 39 (D) Article 39A

. Which writ can be issued by a High

Court as a correctional directive to
subordinate courts ?

(A) Mandamus  (B) Prohibition
(C) Quo-Warranto (D) Certiorari
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8. Match List — | with List — Il and select
the correct answer by using the code
given below the lists :

List—1 List-1I

(@) Jurisprudence (i) H.L. A. Hart
is lawyers’
extra Version

(b) Source of Law (ii) Kelson

is Volkgeist

(c) Law is a union
of primary and
secondary rules

(iii) Julius Stone

(d) Legal systemis (iv) Savigny
a pyramidal
structure of norms
Codes :
a b C d

(A) (ii) (i)

B)  (v) (i)

€ (i) (i) (i) (i)
Oy iy () i

9. Which of the following jurists has
explained rights and duties in terms of
jural co-relations and jural opposite ?

(A) Hohfield (B) Holland
(C) Holmes (D) Roscoe Pound

10. Ratio decidendi of a case means,

(A) Final order of the court

(B) The judgement delivered by the court

(C) Underlying principle or legal
reasons on which the result of the
case depends

(D) That part of the judgement which
has persuasive effect
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11. "Law is a body of knowledge and
experience with the aid of which a
large part of social engineering is
carried on" is the observation of
(A) Duguit (B) lhering
(C) Roscoe Pound (D) Prof. Grey

12. Examine the two statements given
below and select answers from the
answer code:

Assertion (A) : In respect legal duty,
sanction is essential for its

non- performance.

Reason (R) : Presence of sanction is
the test of legal duty.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(C) (A) is true, but (R) is false
(D) (A)is false, but (R) is true

13. Match List — | with List — Il and select
correct answers by using the code given

below :
List-1 List-1I
a) American (i) Law as the
Realists command of
Sovereign
b) Hart’s theory (ii) Law as a
of law dictate of reason
¢) Imperative (iii) Law as a union of
law primary and
secondary rules
d) Natural (iv) Rules related
law judicial behaviour
Codes :

a b C d
A) () (i) (iii) (iv)
B) (iv) (iii) () (i)
C) (iv) (i) (iii) (i)
D) (iii) (ii) (i) (iv)
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14.

15.

16.

Who is considered as the Father of
International Law ?

(A) Grotious

(B) Gentilis

(C) Austin

(D) Jermy Bentham

What should be the order of use of
material source of International Law ?
1) Treaties and Conventions

2) Customs

3) General principles of law
recognised by civilised states

4) Judicial decisions and juristic

opinion
Codes:
(A) 4 3 2 1
(B) 1 4 2 3
(®)] 1 2 3 4
(D) 4 2 1 3

Jus-Cogens means

(A) Peremptory norms of general
International Law from which no
derogation is permissible

(B) Rules of ancient customary
International Law which are
rendered redundant in modern
times

(C) Abrogation of a rule in a treaty by
subsequent treaty

(D) Rule developed from a bilateral
treaty which has found universal
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Examine the two statements given
below and select answers from the
answer code.

Assertion (A) : Supporters of realistic
theories argue that real importance of
international law lies in the validity of
its claim to be law.

Reason (R) : To justify existence of
International Law influence of
international politics is essential.
Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(C) (A)istrue but, (R) is false
(D) (A)is false but, (R) is true

Sapinda relationship has been defined
under

(A) Section 3(b) of Hindu Marriage Act,
1955

(B) Section 3(d) of Hindu Marriage Act,
1955

(C) Section 3(f) of Hindu Marriage Act,
1955

(D) Section 3(g) of Hindu Marriage Act,
1955

Section 13 (d) of Marriage Laws

(Amendment) Bill, 2013 provides for

(A) Wife’s right to oppose the divorce
petition on the ground of hardship

(B) Wife’s right to claim compensation
for domestic violence

(C) Wife’s right to matrimonial property
(D) Both (B) and (C)
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20.

21.

22,

23.

Which school is known after the great
jurist Abu Hanifa under the
Mohammedan Law ?

(A) Shafei school

(B) Shin school

(C) Hanafi school

(D) Shia school

Match List — | with List — Il and select

correct answers by using the codes
given below :

List-1 List —1I
a) Hindu Marriage Act 1) 1956
b) Hindu Adoption and 2) 1955
Maintenance Act
c¢) Child Marriage 3) 1929
Restraint Act
d) Indian Divorce Act 4) 1869
Codes :
a b c d
(A) 4 1 2 3
(B) 1 2 3 4
(©) 4 3 2 1
(D) 2 1 3 4

After divorce, a Muslim woman

(A) Cannotremarry
(B) Can remarry immediately

(C) Can marry only after completion of
Iddat period

(D) Can marry after one year
Which Section of Hindu Marriage Act,

1955 provides the remedy of restitution
of conjugal rights ?

(A) Section 5 (B) Section 9
(C) Section 11 (D) Section 13

K-1813
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Which of the following statement is/are
correct ?

1) Counter offer puts an end to the
original offer.

2) In counter offer previous offer can be
revised.

3) Acceptance must be absolute and
unqualified.

4) Acceptance with new terms is valid.
Codes :
(A) 1 only
(C) 2and 3

(B) 1and 3
(D) 3 and 4

Privity of contract is

(A) Stranger to the consideration
cannot sue

(B) Stranger to the consideration
can sue

(C) Stranger to the contract cannot
sue

(D) Stranger to the contract can sue

Frustration of a contract means

(A) Impossibility to perform a contract
(B) Possibility to perform a contract
(C) Breach of contract

(D) Performance of contract

A contract entered into out of coercion,
undue influence, fraud,
mis-representation is said to be

(A) Voidable contract
(B) Void contract
(C) llegal contract

(D) Un-enforceable contract

Paper Il



N
28. w—’é,.i— Il BroddR e_l))@,i— I 52{ TROOR T2
ORNS TEN TR ToFeE VTC3ReN
elevspiafviictel =503, RR.

?J&a -1 wéi -1
a) YTT (i) So& ST Dot
501%)(3
wﬁou@%
b) TANG g (i) BOFST AT
FWF DT TN
W® BR.
Cc) 33 (i) & T
rbched goree”
d) =R, (iv) R0 e
20w QTTD
PROF TR
PRCRT
DodeNEd
a b c d
(A) @M ) (i) (iv)
B @) 0 (v i
(C) (iv) (i) (i) (H;
i

(D) (iif) (i) i (v
3o 383, %e@ér{%ﬁﬁa w@@%rq, Spvctel
Noéeéaoa’ ST ejoﬁo dm@
BET oo (A): mo TR ORI
a@mﬁ 2, dmro@smé . 5 1000 23503
eﬁﬁééﬁ%ﬁm udﬁw@é STRT dcmfoda
&sa &0STONT Y mr\‘oa amtaoa‘oa
BT, w ) SpltlelevhiUl &sa n@?ﬂ)mn
as’:ao%smo T 00T  TIOOI
@a”e%m@'aﬁ TRTOWMT ojam C3RNET.
@dw (R) FT00 m(iéém;’w STDH
doda#ﬁo RATER . 0T érad@o @dﬁ:
mms BRERRD,
,qoécsmfo :
(A) (A) 333 (R) 20@» B0 3 (R)
Q00T (A) 7 FOCTNT DWOFBOIIRNT
(B) (A) =23 (R) «Tze %0 wwd (R)
00T (A) 1§ FOCINT DT &)

(C) (A) Ro =TS (R) 23,
(D) (A) 2x) =8 (R) =0

Paper Il

29.

(i0)

30.

31.

32.

33.

34.

35.

Total Number of Pages : 16
BTITO LIOTE, AITWNT, THRR/ TOTT

SN
(A) 3 et
(B) 20003 & QOFER, FT[e0R0T
(C) 3% Wows

(D) 03 e %@@eézﬁsa
©TTZ) TR 3030
IonmoTen

€9532300 (

BOLFAR IS .

(A) w7 9 G

(B) ®x* 93° TTRRAIDT
(C) e TR
(D) —aoobmioéaﬁaﬁ%;b

YUTTWE 0230
&BQOTONE 22 $0300E.
2IRRORTIZE,
(A) CIRTTIe S0 LVTC3Rent
(B) 230 =R0D emwoi@eﬁdé
(C) ST (0e) TN é@scsd
SUTOIRENTY,
om@de eTi0eeds S0
NTC3RENTE.

ofSplelay RTTO F30° TIFTLD)
S éé r{%ﬁ& DHRIZT,

(A) mompeas mcﬁé (B ) ﬁ)éﬁojamdé
(C) ve i mde’( ) BR) W53

ﬁoﬁaz%é @w@dd@ BINT CIRYTO 3,00
dg@md T, STT (dés@) @ ?

(A) @aeﬁow 0 ww f&om@aﬁa

(B) 25°F SoexT®

(C) Bo3203 TR - 3 VOO

(D) 2wt

d%o%iraés mzﬁ 3030 TOTRID TRURED,

o8 303 003ed CIRTER 2

(A) méoda =08 3 B0g rgrices
Nowcdﬁ%ﬁ

(B) SowBed X Lm0 LEC 0B
TeTFS ROLOTNRD

(C) BRent =RnrmY Fewsssd SRS
uoda plovelay

(D) 25333 reh> ey TN

K-1813



28. Match List — I with List — Il and select
the correct answers by using the code

given below :

List— | List -1l

a) Minors’ (i) Cundy V. Lindsay
agreement

b) Measure (i) Carlil V. Carbolic
of damages Smoke Ball Co.

c) Mistaken (iii) Hadly V.
Identity Baxendale

d) General (iv) Mohari Bibee V.
Offer Dharmadas

Ghose
Codes :

a b c d
(A) @ (i) i) (v
(B) (ii) @ (v) (i
(©) (iv) (i) @ (i
(D) (i) (i) @ (v

29. Examine the two statements given
below and select answers from the
answer code.

Assertion (A) : A minor, when starving,
is supplied with necessaries worth

Rs. 5,000, by a seller. Minor promises
to repay. After minor earned money in a
lottery, seller desires to recovery. Seller
cannot succeed.

Reason (R) : Minor is not competent to

contract. He cannot promise to repay.

Codes:

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(C) (A)istrue, but (R) is false

(D) (A)is false, but (R) is true
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Common law remedy for breach of
contract is

(A) Injunction

(B) Specific performance of contract
(C) Damages

(D) Rectification of instruments

Action in Tort Law arises when there is
breach of

(A) Jusinrem

(B) Jus in personam

(C) Contractual rights

(D) Constitutional rights

Tort of nuisance consists in discomfort
and annoyance

(A) Inthe use of any property

(B) In the use of movable property

(C) In the use of land and building

(D) Inthe use of any intangible property

The case of Rylands V. Fletcher lays
down the principle of

(A) Absolute liability

(B) Contractual liability

(C) Strict liability

(D) Fault liability

Which of the following is not a valid
defence in tort ?

(A) Volenti non fit injuria

(B) Vis major

(C) Scienti non-fit injuria

(D) Consent

To constitute law of vicarious liability,
the elements required are

(A) Master and independent contractor
relations

(B) Master and servant relations having
fiduciary nature

(C) Servant doing an act in the course
of employment

(D) Wrong act and damages
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Examine the two statements given
below and select answers from the
answer code.

Assertion (A) : If a person speaks ill of
the business which X’ is doing, it
amounts to defamation.

Reason (R) : Slander is actionable

per se.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation to (A)

(B) Both (A) and (R) are true, but (R) is
not correct explanation to (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Match List — | with List — Il and select
the correct answers by using the code
given below the lists :

List-1
a) Vis Major

List-1I
(i) Letthe superior
be responsible
b) Novus actus (i) Actof God
interveniens

c) Respondent (iii) Harm suffered
Superior with knowledge

d) Volenti non fit (iv) Intervention of
injuria a third factor

(v) Harm suffered
with consent
Codes:
a b C d
@i (i) (i)
(i) (iv) (i)
(C) (iv) (i) (i
(D) (i (i) (i)
Which of the following is true ?
(A) Inall robbery there is both theft and
extortion
(B) In all robbery there is either theft or
extortion
(C) Inallrobbery there is extortion alone
(D) In all robbery there is theft alone

(A)
(B)
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Which of the following statement is not
correct ?

(A) Abetment can be committed by
mere silence.

(B) An abettoris liable for abetment even
if the abetted act is not committed.

(C) If abetted person is not liable for
committing the abetted act, the
abettor too cannot be held liable.

(D) An abettor is liable for all the likely
consequences of his abetment.
Which of the following is not a public
servant within the meaning of Section

21 ofthe I.LP.C. ?

(A) Municipal Commissioner
(B) Member of the Parliament
(C) M.LA.

(D) Examiner of the University

Cruelty to a woman by husband or
relative of husband is defined under
(A) Section 498-A of I.P.C.

(B) Section 498 of I.P.C.

(C) Section 497 of I.P.C.

(D) Section 496 of I.P.C.

Match List — | with List — Il and select
the correct answer by using the codes

given below.
List-1 List -1l
a) Mens rea (i) Always not
necessary
b) Abetment (i) No offence in
itself
c¢) Planning to (iii) Strict criminal
commit a theft liability
d) An unlawful (iv) Instigating a
act without person to
Criminal intention ~ commitan
offence
Codes:
a b c d
(A) i (v) (i (i)
(B) (i) (i) (iv) (i)
(C) @ (v) () (i)
(D) (iy (i) i) (v)
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43.

44,

45.

46.

‘An eye for an eye and tooth for a tooth’
principle is embodied in

(A) Retributive theory

(B) Preventive theory

(C) Deterrenttheory

(D) Reformative theory

‘Last come first go’ rule is applicable in
the case of

(A) Closure

(B) Lockout

(C) Transfer of undertaking

(D) Retrenchment

To be an office bearer of Trade Union,
a person must attain the age of

(A) 18 years

(B) 16 years

(C) 15 years

(D) 21 years

When the lockout is not illegal ?

(A) If it is declared in contravention of
Sec. 22 of I.D. Act.

(B) Ifitis declared without issuing notice
when strike is already declared

(C) When lockout is banned by the
appropriate Government

(D) Both B) and C)

47.
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Match List — | with List — Il and select
the correct answer by using the code
given below :
List-1 List-1I
a) Sec.2(f) of (i) Lockout
I.D. Act, 1947
b) Sec.2(g) of (ii) Court
I.D. Act, 1947
c) Sec.2(l) of (i) Workmen
I.D. Act, 1947
d) Sec.2(s) of (iv) Employer
I.D. Act, 1947
Codes:
a b C d
N ) N () SO () (1)
(B) @i @) (i) (i)
(C) (iv) (i) (ii) i)
(D) (i) (iv) (i) (i)
When an individual dispute becomes

industrial dispute ?

(A) When it is taken up by Union only

(B) Union of substantial number of
workmen

(C) Continuous support of union

(D) Subsequent support of union

The registration of the Trade Union can
be cancelled without issuing notice

(A) An application of Trade Union
requesting for cancellation

(B) Trade Union has ceased to exist

(C) If registration has been obtained by
fraud or mistake

(D) BothBand C

Lay Off means

(A) Removing a workman
(B) Retirement of a workman
(C) Dismissing a workman

(D) Inability of employer to provide work
to a workman
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